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Christian Scheel

Klagegesang ("O Traurigkeit, o Herzeleid")
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 mit gestischem Ausdruck
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  
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         
     

        

  

           
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  
p

                          

    
      

     

              
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        
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       
sf

               
3

   
     


      

3          
2´, Mixtur

          
3

      
3         

  3


 

   

20        3        3

 

 
          

          
           

         

     

     
nur 16´ (keine Koppel)
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25             
p

      
f

    
3      

 
          

          
       


              

 

     
auf 8` Basis


f

     3  


                   

32          3 
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 
            

                 
hell und obertonreich


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 

   
      3

      
   
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
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             

      

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
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    




       

         

51               

plötzlich langsamer

                  
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                     
  
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      
pp

    


        
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